FAAKRT NI —YT7— SMEBLE&RA UMK

K& Ml o L | BRI BB | BMIEE BB | FIRIE BB | BABIELL BB BT R [ e
<Kt KB O FG1-1 7517 | FG1-2 6.444 | FG1-2 5871 | M1-1 10.333 | 5.000 35.165 1
K¥E IEH R @) FG1-1 7517 | FG1-2 6.444 | FG1-2 5871 | M1-1 10.333 5.000 35.165 1
RE =5 LN O FG3-2 5.621 | FG3-2 5.889 | FG3-1 6.516 | M3-R 2.000 | 5.000 25.026 2
BHE BT AR O FG3-2 5621 | FG3-2 5.889 | FG3-1 6.516 | M3-R 2.000| 5.000 25.026 2
N B EiE O FG1-2 6.138 FG1-3 5007 | M1-2 8.250 5.000 24.485 3
tE % R O FG1-2 6.138 FG1-3 5007 | M1-2 8.250 5.000 24.485 3
IHE BF] EiR O FG4-7 2.966 | FG4-2 5.333 | FG4-R 2.000 | M4-2 5.750 5.000 21.049 4
=5 I Z40 @) FG4-7 2966 | FG4-2 5.333 | FG4-R 2.000 | M4-2 5.750 5.000 21.049 4
Wi = FiE O FG4-1 6.828 | FG4-1 6.444 | FG4-1 7.161 20.433 5
B B ZI% @) FG4-1 6.828 | FG4-1 6.444 | FG4-1 7.161 20.433 5
[REF HF fiE] L1 O FG4-2 5.621 | FG1-1 7.926 | FG4-2 5.871 19.418 6
LA EREF HE O FG2-1 6.828 | FG2-1 6.444 | FG2-2 5.871 19.143
o &# HE @) FG2-1 6.828 | FG2-1 6.444 | FG2-2 5.871 19.143 6
BEE #F R @) FG2-2 5.621 | FG2-2 5.333 | FG2-1 7.161 18.115 8
=H & BRIR @) FG2-2 5.621 | FG2-2 5.333 | FG2-1 7.161 18.115 7
1\ =88 = @) FG3-1 6.828 | FG3-1 7.185 | FG3-R 2.000 16.013 9
mE A fE] Ly @) FG3-1 6.828 | FG3-1 7.185 | FG3-R 2.000 16.013 8
INEF S i LU O FG4-2 5621 | FG4-5 3.778 | FG4-2 5.871 15.270 9
I ¥ TS O FG1-1 7.926 | FG1-1 7.161 15.087 10
AW &= IN= O FG3-3 4897 | FG3-3 5111 | FG3-3 4710 14.718 11
BrIER ZEF IN= O FG3-3 4897 | FG3-3 5111 | FG3-3 4.710 14.718 10
AR JEA AEA O FG2-4 4414 | FG2-3 4667 | FG2-3 5.097 14.178 12
N @ &l O FG2-4 4414 | FG2-3 4667 | FG2-3 5.097 14.178 11
N #B— RER @) FG1-4 4759 | FG1-6 3.778 | FG1-7 3.032 11.569 13
Bk B REA O FG1-4 4759 | FG1-6 3.778 | FG1-7 3.032 11.569 12
#l EEh /N O FG1-3 5310 | FG1-R 2.000 | FG1-5 4.065 11.375 13
7 [&F] /N @) FG1-3 5310 | FG1-R 2.000 | FG1-5 4.065 11.375 14
zR —E SR @) FG3-5 3931 | FG3-5 4074 | FG3-6 3.355 11.360 15
Lz Z EiR O FG3-5 3931 | FG3-5 4074 | FG3-6 3.355 11.360 14
FEERT FI8H alll O FG2-R 2.000 | FG2-4 4222 | FG2-4 4.581 10.803 15
A = alll @) FG2-R 2.000 | FG2-4 4222 | FG2-4 4.581 10.803 16
= it REAR O FG3-7 2.966 | FG3-6 3.556 | FG3-5 3.806 10.328 17
7 ==l AEA O FG3-7 2.966 | FG3-6 3.556 | FG3-5 3.806 10.328 16
A = REAR O FG1-3 5556 | FG1-4 4,581 10.137 18
5l BE = I O FG1-3 5556 | FG1-4 4,581 10.137 17
thiE F04F ey O FG1-1 7.161 7.161 18
Tk KT fE 1 @) FG4-5 3.778 2.000 5.778 19
EE F= EiR @) FG1-R 2.000 2.000 4.000 19
HE X8 Zi% @) FG1-R 2.000 2.000 4.000 20
“HT =X IN= O FG2-R 2.000 2.000 4.000 19
TR @l /N @) FG2-R 2.000 2.000 4.000 21
FHE /N O FG1-R 2.000 2.000 22
a2 15 FiE O FG1-R 2.000 2.000 21
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29 8 20 27 8 15 31 8 15 12 5 20 10000
29 8 20 27 8 15 31 8 15 12 9] 20 5000
29 1 15 27 1 15 31 1 20 10000
29 7 15 27 7 15 31 7 20 5000
29 8 15 27 31 8 12 12 9] 15 10000
29 8 15 27 31 8 12 12 9] 15 5000
29 7 4 27 6 15 31 8 0 12 3 15 10000
29 1 4 27 6 15 31 8 0 12 3 15 2000
29 7 20 27 6 20 31 8 20 10000
29 7 20 27 6 20 31 8 20 5000
29 7 15 27 8 20 31 8 19 2000
29 7 20 27 6 20 31 8 15 5000
29 7 20 27 6 20 31 8 15 10000
29 1 19 27 6 19 31 8 20 2000
29 7 15 27 6 15 31 8 20 10000
29 7 20 27 7 20 31 7 0 5000
29 1 20 27 1 20 31 1 0 10000
29 1 15 27 6 8 31 8 15 10000
29 27 8 20 31 8 20 10000
29 1 12 27 1 12 31 1 12 10000
29 7 12 27 7 12 31 7 12 5000
29 7 10 27 6 12 31 8 12 10000
29 7 10 27 6 12 31 8 12 5000
29 8 10 27 8 6 31 8 4 10000
29 8 10 27 8 6 31 8 4 5000
29 8 12 27 8 0 31 8 8 5000
29 8 12 27 8 0 31 8 8 10000
29 7 8 27 1 8 31 7 6 10000
29 7 8 27 7 8 31 1 6 5000
29 7 0 27 6 10 31 8 10 5000
29 1 0 27 6 10 31 8 10 10000
29 7 4 27 7 6 31 7 8 10000
29 7 4 27 7 6 31 7 8 5000
29 27 8 12 31 8 10 10000
29 27 8 12 31 8 10
29 27 31 8 20 2000

27 6 8 31
29 8 0 27 31 10000
29 8 0 27 31 5000
29 7 0 27 31 10000
29 7 0 27 31 5000
29 8 0 27 31 2000
29 8 0 27 31 10000



